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TRP/ELEM/CEU/19
Half-Yearly Examination-2019
cxifa (Class) : 5@ (VII)
a7 (Subject) : e (Mathematics)
Answer Key- SET-A
=-fae (Group-A) 20 Marks

94 Rerete #iZe Tes oq :
Lo 2]
4
() 7 2]
(i) 150 2]
(iv) 31 [2]
v) 0.99 [2]
2. (i) 23,26,27 [1]+[1]+[1]
(i) 35, 36,37 [1]+[1]+[1]
3.0 @-w) (b)- (V) (0)- (0); (d) - (i) [11+ 1]+ [1]+[1]
9-fq@1% (Group-A) 20 Marks
4. & [1]
5 .3 [1]
6s 8 [1]
7. 180° [1]
8. x=6 [1]
9. 2 [1]
10. 2 [1]
11.  fae [1] *
12. =9 [1]
13. (i) AB@iee [1]
2+4
14. —§ [1]
== [1]
15. 2x=11+1 [1]
A;!,x= %2 =6 [1]
16. ZPOR + ZQOR = 180° (SRETAIT G2 AT (Petejferar 7 180°)
A, 6q +y = 180° [1]
A, y=111 [1]
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X-5=9 2]
i) ZLOP = ZMOQ = 77°(Re&rSi iet) [1]
if) ZLOP = 180° —/MOQ (FRETRAR G ey @asjfera =S 180°)

19.
20.
21.
22.

23.

24.
25,

26.

27

28.
29.
30.
31.

32.

33.

34.

33.
36.
&Y.
38.

=103° [1]
30 Bt [2]
-11,-8,7,8 [2]
1 (1]
20 - 10 [1]
=10 (1]
A R, o7 FRA x.

X +20 =66 1
q,  x=66 20 [1]
¥, x=46 [1]
x? = 60°, y° = 80°, z° = 40°
F) e [1]
%) & (1]
51) 200 [1]
wfi® 4276 FE= = 15000 Ot [2]
wfare &l I = 9000 B [1]
iv)6® [1]
et [1]
14 [1]
(4 X3R) 9= (1]
6 3 [1]
x=—2 [1]
50 3
95 (1]
= ? (1]
g3 o = 80 v [1]
cFeT 6400 IO [1]
0 (2]
4x +20 =100 [2]
x =25° [2]
B @ — 0, 3,7, 9, 10, 13,20
AR AR (n) =7 1
et = () o

=B (1]



39;

40.
41.

42.

43,
44,

o AR = 36 fit:
(15 259 = 900 GBIt

[2]
[1]

AABC ABAD 29T G =T &« 1 790 I K|

6x+15-2x=3x+18
q,6x—-2x-3x=18-15

qd,x=3

qibqres cRtae e e
IoTwras e Ao a0

SRS ©INE AT CFawe = 116 I5o=

x = 100°, y = 80°, z = 80°,
@ @I 7o TS AT 201 1 797 AR |

(1]
(1]
[1]
[1]
[1]
[1]
[1]
[(11+[1]+ 1]+ [1]
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Half Yearly Examination — 2019
Class - VII
Sub : English

ANSWER KEY (Set— A)

Section — A

1. (a) (i) black and red; (ii) childhood; (iii) anthills
(b) (i) among (ii) black
2. (a) (i) an elephant; (ii) five months old; (iii) nine years old
(b) (i) was 3 times; (ii) old 2 times
Section - B
e ¥ (a) (i) Hilsa (ii) fish (iii) palace (iv) angry
(b) (i) Everywhere there were discussions about Hilsa fish even by the courtiers in the
palace. Hearing so much about Hilsa fish, the king became very angry.
(ii) As it was the season of Hilsa fish the fishermen could think of nothing but Hilsa
fish. The fishmongers sold only Hilsa fish because the price was also down.
(iii) The king asked one of his courtiers, “Are you a courtier or a fisherman?”
(iv) The king felt guilty because he behaved rudely with one of his courtiers in the
palace.
4. (a) (iii) Hilsa
(b) (ii) As if it was their own baby.
(c) (iii) Lived comfortably and were generous towards their poor neighbours.
(d) (iii) A mystic man
(e) (ii) Muko
5. (a) The king told Gopal to buy a huge Hilsa and bring it to the palace without anyone
asking a word about it. If Gopal could manage this then the King would consider him that he was
clever.
(b) One day the dog came running to the farmer, putting his paws against his legs and
motioning with his head tp some spot behind. Then the dog kept on whining and running to and
fro for some minutes.

6. (a) Gopal half-shaved his face first. Then he smeared himself with ash. After that he wore
some rags. After all these Gopal went out to buy the Hilsa fish.

7. (a) Shirley Bauer (b) bottom (c) apple, pears

8. (a) The poet says that the squirrel wore a question mark for its tail because of the shape of
a squirrel’s tail resembles a question mark.

(b) The poet is planning to go into the shed one day soon. He wants to see the whether

there is really any ghost present or not.

9. The squirrel is teasing the poet and his friends. Whenever the poet went a little closer to
the squirrel, the squirrel would run away in the other direction.

10.  (a) a; (b) the; (c) an; (d) the; (e) liked; (f) are; (g) The old man; (h) to;




Section —-C

11. (a)
(i) an endless stretch of sand ------ (¢) nothing but sand as far as one can see
(i) waterless and without shelter ------ (d) on water and no shade
(iii) an oasis ==-------- (a) fertile place with water and plants in a desert
(iv) hidden by a cover of grass -------- not visible because the grass is thick
(b)

(i) An oasis is like a green island in the middle of a desert where a spring or a well gives
plants and trees a better chance to grow.

(ii) In some places within the desert strong winds blow raising heaps of sand and
depositing them as mounds. These are called ‘sand dunes’ that shift and move endlessly
across the desert.

12. (a) John Galsworthy.

(b) Gessler Brothers.

13. (a) Michael Rosen.

(b) When everybody has short hair the rebel refuses to cut hair short.

14. Soapy's first plan was to visit a famous restaurant of the city. There he would eat costly
items and would not pay their price. But this plan did not work because as Soapy put his foot
inside the restaurant; the head waiter saw his broken shoes and torn clothes and tuned him away
quickly.

15. (a) doing; (b) in; (c) large; (d) felt;

16.

Sender’s Address

Receiver’s Address

Date

Salutation

Content

Complementary Close




LY *'"\

Or

To

The Headmaster

School’s Name

Subject

Respected Sir

Content

Date, Place

Complementary Close

17.
Title of the Paragraph
Content
18. Title of the Story
Content

[N.B.:- In case of Q. No. 16,
students. ]

17 and 18 multiple types of answers are expected from the




